C:# |dentifying Points of a Functionin a Table Name:

Each table shows Y asa function of X. Deter mine which choice shows a point that can be Answers
part of the same function. -
Df{x|y 2 [ x[v 3 [x [y 1
2| 2 1|-7 91| 8
1] 0| -6 8| -3 2
3| -2 -1 -2 1)1
910 5|9 7| -4 3
0| 2 2|7 81| 3
A.(-2,5) A.(-1,-1) A.(6,8) 4
B.(-9,5) B.(0,-7) B.(-9,5)
C.(-7,-2 C.(-8,4) C.(-7,-6) 5
D.(-3,-4) D.(1,4) D. (-8, -8)
6.
7.
41 x|y 5 | x|vY 6) [ x | Y
6 | -8 2|09 6| 6 8
8| 7 7| -4 8 | -5
2| 2 511 8| 6 °
3|5 6 | 5 519
710 -7 | 6 6| 0
A.(3,-6) A.(-7,3) A.(5,4
B. (-8, 0) B.(2,-7) B.(6,2)
C.(2,5) C.(6,-7) C.(-3,-2
D.(5,-9 D.(7,-3) D. (8, -8)
Nlx|y 8 [ x|vY 9 |x]|Yy
-3 | -5 91| 7 0|0
3|3 -7 | -6 11-1
71 -9 519 8| 4
-8 | 3 -8 | -6 7| 2
6| 3 0| -1 51 2
A.(-8,-5) A.(-7,-5) A.(4,-9)
B.(6,-2) B. (-8, 8) B. (-5, -8)
C.(3,-4 C.(9,6) C.(1,6)
D.(-6,1) D.(-5,7) D.(8,9
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C:# |dentifying Points of a Function in a Table Name: Answer Key

Each table shows Y asa function of X. Deter mine which choice shows a point that can be Answers
part of the same function.
D{x|y | x|y A x|y L C
2|2 1|-7 9| 8
1] o|-6 8 -3 2 C
3 -2 1 -2 101
9]0 519 7| -4 8. A
0] 2 2|7 8|3
A.(2.5) A. (-1, A. (6.9 a. D
B.(-9,5) B.(0,-7) B.(-9,5)
C.(-7,-2) C.(-8,4) C.(-7,-6) 5 B
D. (-3, -4) D.(1,4) D. (-8, -8)
6. C
7 B
4 1 x|y 5 | x|y 6) | x | v
6 | -8 2109 6| 6 8 C
8| 7 7| -4 8 |-5
2 | 2 511 8| 6 9 A
3|5 6 | 5 5109
710 716 6|0
A.(3,-6) A.(-7,3) A. (5,4
B.(-8,0) B.(2,-7) B.(6,2)
C.(2,5) C.(6,-7) C.(-3,-2
D.(5,-9) D.(7,-3) D.(8,-8)
Nlx|y 8 | x|y 9 1x ]|y
3| -5 9|7 0|0
313 7| -6 1|-1
71-9 519 8 | 4
8| 3 8| -6 71 2
6| 3 0| -1 51 2
A.(-8,-5) A.(-7,-5) A.(4,-9
B.(6,-2) B.(-8,8) B.(-5,-8)
C.(3,-9 C.(9,6) C.(1,6)
D.(-6, 1) D.(-5,7) D.(8,9)
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